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Chemistry	12	worksheet	4	4	ka	and	kb	calculations	answers

Learning	Objectives	Perform	calculations	to	determine	the	pH	of	a	weak	acid	or	base	solution.	Bees	are	beautiful	creatures	that	help	plants	flourish.	They	carry	pollen	from	one	plant	to	another	to	facilitate	plant	growth	and	development.	But,	they	can	also	be	troublesome	when	they	sting	you.	For	people	who	are	allergic	to	bee	venom,	this	can	be	a
serious,	life-threatening	problem.	For	the	rest	of	us,	it	can	be	a	painful	experience.	When	stung	by	a	bee,	one	first-aid	treatment	is	to	apply	a	paste	of	baking	soda	(sodium	bicarbonate)	to	the	stung	area.	This	weak	base	helps	with	the	itching	and	swelling	that	accompanies	the	bee	sting.	The	Ka	and		values	have	been	determined	for	a	great	many	acids
and	bases,	as	shown	in	Tables	21.5	and	21.6.	These	can	be	used	to	calculate	the	pH	of	any	solution	of	a	weak	acid	or	base	whose	ionization	constant	is	known.	Calculate	the	pH	of	a	2.00	M	solution	of	nitrous	acid	(HNO	2	).	The	Ka	for	nitrous	acid	is	4.5	×	10−4	.	Step	1:	List	the	known	values	and	plan	the	problem.	Known	initial	[HNO	2	]	=	2.00	M
Unknown	First,	an	ICE	table	is	set	up	with	the	variable	x	used	to	signify	the	change	in	concentration	of	the	substance	due	to	ionization	of	the	acid.	Then	the	Ka	expression	is	used	to	solve	for	x	and	calculate	the	pH.	Step	2:	Solve.	Concentrations	[HNO	2	]	[H	+	]	[NO	2	−	]	Initial	2.00	0	0	Change	Equilibrium	The	Ka	expression	and	value	is	used	to	set
up	an	equation	to	solve	forx	.	The	quadratic	equation	is	required	to	solve	this	equation	for	x.	However,	a	simplification	can	be	made	because	of	the	fact	that	the	extent	of	ionization	of	weak	acids	is	small.	The	value	of	x	will	be	significantly	less	than	2.00,	so	the	−x	in	the	denominator	can	be	dropped.	Since	the	variable	x	represents	the	hydrogen-ion
concentration,	the	pH	of	the	solution	can	now	be	calculated.	Step	3:	Think	about	your	result.	The	pH	of	a	2.00	M	solution	of	a	strong	acid	would	be	equal	to	−log	(2.00)	=	−0.30	.	The	higher	pH	of	the	2.00	M	nitrous	acid	is	consistent	with	it	being	a	weak	acid	and	therefore	not	as	acidic	as	a	strong	acid	would	be.	The	procedure	for	calculating	the	pH	of
a	solution	of	a	weak	base	is	similar	to	that	of	the	weak	acid	in	the	sample	problem.	However,	the	variable	x	will	represent	the	concentration	of	the	hydroxide	ion.	The	pH	is	found	by	taking	the	negative	logarithm	to	get	the	pOH,	followed	by	subtracting	from	14	to	get	the	pH.	Summary	The	procedure	for	calculating	the	pH	of	a	weak	acid	or	base	is
illustrated.	Review	What	does	x	stand	for	in	the	equation?	What	simplifying	assumption	is	made?	What	would	x	stand	for	if	we	were	calculating	pOH?	This	problem	has	been	solved!	Ka	=	2.8	x	10-9.	a.	The	Ka	of	HBrO	is	at	25°C.	Get	answers	by	asking	now.	Strong	acids	are	listed	at	the	top	left	hand	corner	of	the	table	and	have	Ka	values	>1	2.	C)	9.45.
BrO	-	+	H2O	----->	HBrO	+	OH-The	constant	for	this	basic	salt,	Kb	=	[HBrO][OH-]	/	[BrO-]	This	is	the	same	as	Kw/Ka,	that	is	[H+][OH-]	/	{[H+]	[	BrO-]	/	[HBrO]}	and	is	equal	to	1	x	10^-14	/	…	Hypobromous	Acid.	0	0.	Bromous	acid	is	a	bromine	oxoacid.	Show	transcribed	image	text.	Join.	Create	.	ChEBI.	Trending	Questions.	What	is	the	pOH	of	a	0.63
M	HOBr	solution?	Join	Yahoo	Answers	and	get	100	points	today.	What	is	the	pH	of	a	0.150	M	solution	of	CH3COOH?	Acid	with	values	less	than	one	are	considered	weak.	Favourite	answer	[H+]	=	10^-4.48	=3.31	x	10^-5	M	=	[BrO-]	Ka	=	(3.31	x	10^-5)^2/	0.55	=2	x	10^-9.	hydroxy-λ	3-bromanone	hydroxidooxidobromine	bromous	acid.	The	following
is	the	equilibrium	constant	for	its	reaction	with	water:HBrO(aq)	+	H2O(l)	⇋	H3O+(aq)	+	BrO–(aq)	Ka	=	2.5	×	10–9What	is	the	hydronium	ion	concentration,	[H3O+],	in	a	1.32	M	HBrO	solution?a)	2.6	x	10-8	Mb)	7.2	x	10-6	Mc)	5.7	x	10-5	Md)	1.3	x	10-4	Me)	4.9	x	10-3	M	1.8	×	10-5.	What	is	the	pH	of	a	0.200	M	CH3NH3Br	solution?	hypobromic	acid.
(Ka	of	HBrO	=	2.3	x	10^-9)	What	is	the	value	of	Ka	for	HBrO?	Using	this,	calculate	the	value	of	Ka	for	the	acid	HBrO.	(4	marks)	Answer	Page	3/10.	What	is	the	pH	of	the	solution	before	titration?	Problem:	Hypobromous	acid,	HBrO,	is	a	weak	acid.	The	pH	in	a	0.25	M	solution	of	the	acid	HBrO	is	4.65	.	pH	=	pKa	-	log([HBrO]	/	BrO^-)	pH	=	8.64	-	log
(0.95/0.59)	pH	=	8.43.	Ask	question	+	100.	This	problem	has	been	solved!	Cazley.	Hypobromous	acid,HOBr,	has	acid	-ionization	constant	of	2.5	X	10^-9	at	25	Celsius	.	Identifiers	3D	model	.	Ka	Of	HBrO	Is	2.3	X	10-9.	Using	this,	calculate	the	value	of	Ka	for	the	acid	HBrO.	HBrO	has	a	Ka	of	5.0	x	109.12	You	are	titrating	40.0	mL	of	0.25	M	NaBrO
solution	using	0.45	M	HCl	solution.	Lv	7.	The	weak	base	ethylamine	(C2H5NH2)	…	2	months	ago.	4.74.	3.A	buffer	that	contains	1.05	M	B	and	0.750	M	BH+	has	a	pH	of	9.05.	Join	Yahoo	Answers	…	(4	marks)	Answer	_____	4.	Predicted	data	is	generated	using	the	US	Environmental	Protection	Agency’s	EPISuite™.	1	0.	Determine	the	K	a..	Notice	that	a
generic	weak	acid	is	used,	symbolized	by	the	formula	HA.	HBrO	===>	H+	+	BrO-Ka	=	[H+][BrO-]/[HBrO]	=	2.8	x	10^-9.	Ka	of	CH3COOH	=	1.8	×	10−5.	2.78.	Oxayl	bromide.	This	is	a	favorite	problem	for	teachers	to	test	Problem	#1:	A	0.120	M	solution	of	a	generic	weak	acid	(HA)	has	a	pH	of	3.26.	1	Structures	Expand	this	section.	Chem.	The	pH	of
a	0.55	M	aqueous	solution	of	hypobromous	acid,	HBrO,	at	25	o	C	is	4.48.	What	is	the	pH	of	a	0.350	M	MgF2	solution?	It	is	a	conjugate	acid	of	a	bromite.	Hypobromous	acid	is	a	weak	acid	(Ka	=	2.8	*	10-9	M).	HBrO,	Ka	=	2.3	times	10^{-9}.	Equations	for	converting	between	Ka	and	Kb,	and	converting	between	pKa	and	pKb.	HPO2−4+HBrO↽−
−⇀acid+base	Acid:	Base:	chemistry.	A	0.110	M	solution	of	a	weak	acid	has	a	pH	of	2.84.	Answer	to	Ka	of	HBrO,	is	2X10-9.	"HBrO"_2	is	the	stronger	acid.	What	is	the	buffer	component	ratio,	(BrO-)/(HBrO)	of	a	bromate	buffer	that	has	a	pH	of	9.	13517-11-8.	1	Structures	Expand	this	section.	Relationship	between	Ka	of	a	weak	acid	and	Kb	for	its
conjugate	base.	Verify	Hypobromous	acid,	HBrO,	is	a	weak	acid.	x^2	=	1.0	x	10^-9	=	[H+]	pH	=	-Log[H+]	and	Log(1.0x10^-9)	=	-9.0,	so	pH	=	+9.0.	Lv	7.	1	decade	ago.	100	mL	0.1	M	HBrO	is	titrated	with	0.1	M	NaOH.	Want	to	see	the	step-by-step	answer?	Ka	=	(x)(x)/(0.366)	=	2.8	x	10^-9.	It	is	an	unstable	compound,	although	salts	of	its	conjugate
base	–	bromites	–	have	been	isolated.	The	pH	of	a	0.55-M	aqueous	solution	of	hypobromous	acid,	HBrO,	at	25°C	is	4.48.	2	Names	and	Identifiers	Expand	this	section.	Show	your	work.	bromine	dioxide.	Some	of	the	HBrO	will	be	converted	to	BrO^	…	More...	Molecular	Weight:	112.91	g/mol.	the	acid	HBrO	is	4.65	.	(4	marks)	Answer	_____	4.	>	For
oxyacids	with	the	same	central	atom,	the	acidity	increases	as	the	number	of	atoms	bonded	to	the	central	atom	increases.	The	…	Anonymous.	More...	Molecular	Weight:	96.91	g/mol.	how	do	you	solve	for	Ka?	What	is	the	pH	after	0.0019	mol	Ba(OH)2	is	added	to	0.750	L	of	this	solution?	HBrO2.	It	is	a	conjugate	acid	of	a	hypobromite.	What	is	the	value
of	Ka	for	HBrO?	All	of	the	KOH	will	be	used	up.	moles	KOH	--->	(0.150	mol/L)	(0.0200	L)	=	0.00300	mol	.	Answer	to:	The	pH	of	a	0.55	M	aqueous	solution	of	hypobromous	acid,	HBrO,	at	25	degree	C	is	4.48.	3	Chemical	and	…	Relevance.	Bromous	acid	Names	IUPAC	names.	HBrO	2	or	BrHO	2:	Synonyms:	bromous	acid.	This	begins	with	dissociation	of
the	salt	into	solvated	ions.	Create	.	What	is	the	value	of	K_a	for	HBrO?	Relevance.	2	0.	…	Ask	Question	+	100.	Interactive	image;	ChEBI:	…	Still	have	questions?	Expert	Answer	100%	(2	ratings)	Previous	question	Next	question	Get	more	help	from	Chegg.	Write	the	equilibrium	expression	(including	water	as	a	reactant)	and	identify	the	two	conjugate
acid-base	pairs	according	to	B-L	theory.	The	strong	bases	are	listed	at	the	bottom	right	of	the	table	and	get	weaker	as	we	move	to	the	top	of	the	table.	Solution	for	What	is	the	pH	of	a	buffer	made	from	0.350	mol	of	HBrO	(Ka	=	2.5	x	10-9)	and	0.090	mol	of	KBrO	in	2.0	L	of	solution?	The	pH	in	a	solution	of	benzoic	acid	is	2.355.	Expert	Answer	.
Previous	question	Next	question	Transcribed	Image	Text	from	this	Question.	Favorite	Answer.	37691-27-3.	Find	the	number	of	moles	of	OBr-	and	HOBr	in	the	final	.	Chemistry.	Need	help	with	AP	chemistry,	specifically	Acids	and	…	Why	is	(H2O2)	known	as	hydrogen	peroxide	and	not	hydrogen	dioxide?	What	is	the	buffer	component	ratio,	([BrO-
]/[HBrO])	of	a	bromate	buffer	that	has	a	pH	of	7.88.	HOBr.	What	is	the	value	of	Ka	for	the	acid?	Calculate	the	pH	when	20.0	mL	of	0.150	M	KOH	is	mixed	with	36.0	mL	of	0.300	M	HBrO	(Ka	=	2.5	×	10⁻⁹)?	The	pH	in	a	solution	of	benzoic	acid	is	2.355.	Chemistry	12-Worksheet	4-4—Ka	&	Kb	Calculations	Page	2	of	4	Pages	3.	Dates:	Modify	.	2021-02-13.
Determine	the	pH	of	a	0.045	M	hypobromous	acid	(HBrO)	solution.	The	KA	of	HBrO	is	2.5	x	10^-9	at	25	C.	Salt	Hydrolysis:	Salt	hydrolysis	is	the	reaction	of	a	salt	with	water.	The	HH	equation	is	easier.	ChEBI.	Still	have	questions?	What	is	the	pH	of	0.25M	aqueous	solution	of	KBrO?	Hypobromous	acid	is	a	bromine	oxoacid.	2	Names	and	Identifiers
Expand	this	section.	Then	[BrO-]	=	x	and	[HBrO]	=	0.366	-	x.	Source(s):	.	A)	4.50.	b)	6.27.	Write	this	equilibrium	expression	showing	BrO	acting	as	a	base	in	a	reaction	with	water	(note	that	HBrO	…	But	x	is	so	small	that	we	can	neglect	it	and	say	[HBrO]	=	0.366.	Check	out	a	sample	Q&A	here.	A.	Read	Online	Chemistry	12	Worksheet	4	Ka	Kb
Calculations	Answers	Ch12Worksheet4-4	-	Chemistry	12	Worksheet	4-4Ka	Kb	...	Chemistry	12	Worksheet	4-4—Ka	&	Kb	Calculations	9.	oxidobromine(.)	Using	this,	calculate	the	value	of	Ka	for	the	acid	HBrO.	Contents.	Ka	of	HBrO	=	2.8	×	10−9.	Calculate	the	pH	of	a	2.58	M	KBrO	solution.	Trending	Questions.	What	is	the	value	of	Ka	for	HBrO?	Page
9/29.	The	Ka	for	hypobromous	acid,	HBrO,	is	2.0×10-9.	pH	=	pKa	+	log	(base/acid)	Plug	in	Ka,	(base)	=	6.5/molar	mass	NaBrO	and	divide	by	0.110	L.	For	acid	plug	in	…	HBrO	or	BrHO:	Synonyms:	Hypobromous	acid.	In	acidic	solution,	bromites	decompose	to	bromine.	b.	how	do	you	solve	for	Ka?	what	is	the	component	concentration	ratio,	[BrO-
]/[HBrO],	of	a	buffer	that	has	a	pH	of	8.05?	In	part	a,	you	should	have	identified	BrOas	the	conjugate	base	of	HBrO.	A4.40	B3.87	C5.20	D9.60	E10.13	I'm	getting	two	…	Bromous	acid	is	the	inorganic	compound	with	the	formula	of	HBrO	2.	Want	to	see	this	answer	and	more?	The	answer:	1.07	Ka	of	HF	=	3.5	×	10−4.	Ap	chemistry.	3.	Join	Yahoo
Answers	…	0	1.	D)	11.08.	See	the	answer.	See	the	answer.	Contents.	ChemTeam.	23	or	how	to	mdogoshops	c)	(1	…	1.What	is	the	buffer-component	ratio,	[BrO	-]/[HBrO],	of	a	hypobromite	buffer	that	has	a	pH	of	8.30	(Ka	of	HBrO	=	2.3	10-9)?	Ch12Worksheet4-4	-	Chemistry	12	Worksheet	4-4Ka	Kb	...	Chemistry	12	Worksheet	4-4—Ka	&	Kb	Calculations
9.	"HBrO"_2	has	K_a	=	1.2	×	10^-5,	while	"HBrO"	has	K_a	=	2	×	10^-9.	Ka	Of	HBrO	Is	2.3	X	10-9?	Dr.A.	Answer	Save.	Between	0	and	1	B.	2021-02-13.	Solved:	What	is	the	pH	of	a	0.350	M	HBrO	solution?	7	answers	.	The	pH	in	a	0.25	M	solution	of	the	acid	HBrO	is	4.65	.	1.	Ka	of	HBrO	is	2.3	x	10-9.	Ask	question	+	100.	check_circle	Expert	Answer.
The	pH	in	a	solution	of	benzoic	acid	is	2.355.	2004-09-16.	Relevance.	Thus,	we	predict	that	"HBrO"_2	should	be	a	stronger	acid	than	"HBrO".	Let	[H+]	=	x.	Please	show	steps	:)	Answer	Save.	4	years	ago.	5.68.	Log	Octanol-Water	Partition	Coef	(SRC):	Log	Kow	(KOWWIN	v1.67	estimate)	=	-4.63	Boiling	Pt,	Melting	Pt,	Vapor	Pressure	Estimations
(MPBPWIN	v1.42):	Boiling	Pt	(deg	C):	517.26	(Adapted	Stein	&	Brown	method)	Melting	Pt	(deg	C):	206.04	(Mean	or	Weighted	MP)	VP(mm	Hg,25	deg	C):	6.69E	…	What	is	the	value	of	Ka	for	HBrO?	Get	your	answers	by	asking	now.	8.65	.	See	Answer.	The	Ka	of	HBrO	is	2.5	x	10-9	When	eql	volumes	of	0.1	M	HbrO	and	0.1	M	NaBrO	are	mixed	the	pHof
the	solution	will	be	.	1	Answer.	Kb	of	CH3NH2	=	4.4	×	10−4.	3	Chemical	and	…	2004-09-16.	What	is	the	value	of	Ka	for	HBRO?	orada)	a)	(1	mark)	What	is	the	pKa	of	HBrO	and	the	Kb	of	Bro"	?	Dates:	Modify	.	Access	Free	Chemistry	12	Worksheet	4	Ka	Kb	Calculations	Answers	_____	4.	Get	answers	by	asking	now.	What	is	the	value	of	Ka	for	HBrO?
moles	HBrO	--->	(0.300	mol/L)	(0.0360	L)	=	0.00720	mol.	Ka	of	HBrO	is	2.3	x	10-9?	This	is	confirmed	by	their	K_"a"	values	.	pKa	=	8.70	rounded	a	little	but	you	need	to	confirm	that.	Experts	are	waiting	24/7	to	provide	step-by-step	solutions	in	as	…	Lv	5.	Question.	2.A	buffer	that	contains	0.130	M	HY	and	0.260	M	Y	-	has	a	pH	of	8.50.	pka	(HBrO):	Kb
(Bro-):	b)	(2	marks)	What	volume	of	the	HCl	solution	(in	mL)	needs	to	be	added	to	reach	the	equivalence	point	in	this	titration	experiment?	1	Answer.	15	ml	of	.325	M	NaOH	is	delivered	into	a	35	ml	HObr	solution	of	unknown	concentration.The	pH	of	the	final	solution	is	measured	to	be	7.48.Ka	for	HOBr	is	2.0	*	10^-9	at	25C.	What	is	more	dangerous,
biohazard	…	Ka	=	2	x	10^-9	=	(H^+)(BrO^-)/(HBrO)	Plug	in	(BrO^-)	6.50grams/molar	mass	NaBrO	and	that	divided	by	0.110	L.	(HBrO)	=	0.5	M	and	solve	for	H^+	then	convert	to	pH.	2	Answers.	2.0	x	10-9	6.0	x	10-5	3.0	x	104	1.1	x	10-9	3.3	x	105	9	years	ago.	As	Ka	is	very	small	and	due	to	the	common	ion	effect	in	the	presence	of	H₃O⁺	ions,	it	can
be	assumed	that	the	ionization	of	HBrO	is	to	a	very	small	extent,	and	thus	0.085	≫	y.	Equilibrium	[H₃O⁺]	=	(0.085	+	y)	M	≈	0.085	M.	pH	=	-log[H₃O⁺]	=	-log(0.085)	=	1.07.	Solution	for	Consider	the	substance	KBrO.	The	Ka	of	hypobromite	acid,HBro,	is	2.1	x	10^-9	.	The	pH	of	a	0.55	M	aqueous	solution	of	hypobromous	acid,	HBRO,	at	25.0	°C	is	4.48.
Still	have	questions?	Answer	Save.	If	you're	seeing	this	message,	it	means	we're	having	trouble	loading	external	resources	on	our	website.	If	you're	behind	a	web	filter,	please	make	sure	that	the	domains	*.kastatic.org	and	*.kasandbox.org	are	unblocked.
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